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dz
e-
la 

bdkbZ dk uke  LFkku  ykSg v;Ld izkfIRk 
{kS= 

dks;yk izkfIRk {kS= eSxuht izkfIRk {k S= ty izkfIRk {kS= cktkj  mRiknu 
{kerk  

1 TISCO te'k sniqj  uksvkea.Mh rFkk
xq:efglkuh  [kkuks 
ls  

>fj;k rFkk
cksdkjks ls  

D;k s>j dh tksMk 
[kkuk s ls  

Lo.kZ js[kk rFkk
[kkjdksb ufn;ks ls  

dksydRkk rFkk eqEcbZ 
,oe lehi dk {k S= 

40 yk[k 
Vu 

2 IISCO dqYVh fgjkiqj 
cuZiqj  

 flgHk wfe]e;wjHkat 
]dkSYgu D;k s>j
[kkuk s ls 
 

jkuhxat ]>fj;k 
rFkk jkeuxj  

mMhlk rFkk
>kj[k.M  

nkeksnj rFkk lgk;d 
ufn;k s ls  

dksydRkk ,oe lehi 
dk {kS= 

16 yk[k 
Vu izR;sd 
dh  

3 VISCO Hknzkorh dseuxqMMh [kkuks  LFkkuh; ydMh 
ds dks;ys ls  

LFkkuh; LRkj ij  Hknzkorh unh  cSxykSj rFkk lehi dk 
{k S= 

2 yk[k  

4 jkmjdsyk bLIkkr 
dkj[kkuk   

jkmjdsyk  lqUnjx< rFkk 
D;k s>j dh [kkuks 
ls  

>kfj;k rFkk
rypj dh [kkuks 
ls  

Cklkikuh rFkk
cksykuh [kkuks ls  

czkgeuh unh ls  lehi dk  vk S|k sfxd 
{k S= 

11 yk[k 
Vu 

5 fHkykbZ  bLIkkr 
dkj[kkuk   

fHkykbZ  MYYkh jktgjk dh 
[kkuk s ls  

dksjck vkSj
djxyh [kkuks ls 

Hk.Mkjk vSkj
ckyk?kkV dh [kkuks 
ls 

LFkkuh; LRkj  lehi dk  vk S|k sfxd 
{k S= 

35 yk[k 
Vu 

6 nqxkZiqj   bLIkkr 
dkj[kkuk   

nqxk Ziqj   uksvkea.Mh rFkk
xqvk  [kkuk s ls 

>fj;k rFkk
jkuhxat  ls  

D;k s>j dh tkenk  
[kkuk s ls  

nkeksnj rFkk lgk;d 
ufn;k s ls 

dksydRkk rFkk eq
lehi dk {kS= 

15 yk[k 
Vu 

7 Ckskdkjks   bLIkkr 
dkj[kkuk   

cksdkjk s D;k s>j dh
fdjhcq:   [kkuks 
ls 

>fj;k  ls  D;k s>j dh   [kkuk s 
ls  

nkeksnj rFkk cksdkkjsk  
ufn;k s ls 

dksydRkk rFkk eq
lehi dk {kS= 

25 yk[k 
Vu 

8 fo'kk[kkiVUke   
bLIkkr dkj[kkuk   

fo'kk[kkiVUke    cSykfMyk   [kkuks 
ls 

nkeksnj ?kkVh   mMhlk rFkk
NRkhlx<  

rVorhZ Hkkx ls  lehi dk  vk S|k sfxd 
{k S= 

3 yk[k 
Vu 
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